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ENGLISH VERSION

Instructions: (1) Write answer of every question in main answer-
book.
(2) Figures to the right side indicate marks of
question.
1  Explain the causes of poverty in India. 14
OR
1 Explain the Remedies for decrease poverty in India. 14
2  What is poverty line ? Explain with example. 14
OR
2  Discuss the characteristics of under - developed economy 14

with reference to India.

3  Explain the causes of low human development index 14
in India.
OR
3  Explain the remedies for increasing agriculture productivity 14
in India.
4 Explain the measurement of per capita income for 14
economic development.
OR
4  Explain the trends of agricultural productivity and 14

production during planning.

5 Write short answers (Any two): 14
(1) Qualitative problems of population in India
(2) Measurement of standard of living
(3) Trends of birth rate in India
4) Causes of low H.D.I. in India
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